SHTEE AHRERIAR
iz MENFER B B B B
402257 e ] Wk S, StERKX S EE 0 2P - HoRPAER & 1
2
IREFKX S EE 0 TEIEEmE AFTSEE8. ) I 7,511
EREASKSEAD (R2.1.1387) 29,339 A o ) R 346 VNS 7 0
EEEEEPOKER KT
(55%::73\73\%603? 303,000 J—_— B AT 0
JLE
IRAEHEKAD <
S G oA i Be0 0 SRS A 0
B G m = o REHEKX G ETE 0 B {ReE ey P
— (5BBKCHNBED) 2% SR S 0
i 708,526 JHEBKAD 0 B i P
= oL ;.g En' (DBEBKICHDDED) P
B — - . TIKEE |MEEZPEKIER e T . N =S —
= i »O%L, (5BEKCHDZED) = A 0
o e IRTEBEKAD o e
B i Ll ’ B Hik OEEKELDSED ’ AR il el ’
Zoft 7 0 ) - BB E 0 . SEBAL 0
& 5 (5BEKCHDZED) = A
NE N . R —
sEE . eI Av: it 0 N mERAD 0 EIE i 1
\is INREESHEKNIRE KRR MES
Z it 0 el oadie 0 SRS A 1
N == bl 470 J=Za=5+« « JSVHMMEBAD 0 - G fE T 0
EBS | sppeps == F 462 SHRERLELEAD S I . sEEas | A 0
B8R (M) 8,518 - B YT hEER ElaiE= 5 EiE fai 2
BEP ZN=j:0)
MBIER (HErR) 71,005 S — BRSNS | BT 0.0 SIRHEN A 0
a WEAD 061 | |MEE g7y | DTG R 0 B i 1
2] 5 gn,l B§Lﬁﬁ&t’%
— FRIHINES 3,414 RIS | _wmemmeies | s 0.0 SEHEN | A 0
n S, = 5
Rz _, |mEAC 29,039 s |PUNIER |EWH 0 B e |
= & FFEKIZ
FEMINES 9,081 =i —BiSBIBMAS IR | BT 0.0 BIEREHN A 0
—— HEIE 640 = A g | PENIINES ELE 0 5 ElE 0 1
B K8 in = =
[ s o [®¥  EMTA _ummmsrise ms 0.0 sEmR | A 0
K& #62
Ik HEIFRE 875 B A HBIFI Y1 hEES ELE: 0 REVYH— BT fa T 0
it 4O HEE —
L T 0 TR | —uses e | 0.0 BEOR e i 0
RIEHEKAD 26,624 - ISENSR | B IIhEER El3E 0 BROR BIEBEN A 0
SEhEEx
S BRI ER 10,810,000 SEMER | hEIR IR BT 0 BT fa T 80
=y EXNER
RIE BRI ETE 10,330,000 g WME | ThEAIIAESR BT 0 EETE ot 6,216
Bl == _
HERADBY | 3| (B eg |coom  |PEINIINES B 0 J— T GERD | i 1,022,929
TIEXR
TKEFE | NHTKBE IRTEARIMBIS 3 S 29 GEERE | of 146,837
NS
HENER ST 10,810,000 Tt (58 | of 6,071,147
B E
FEMER S 10,330,000 - 2y GEER | of 13,214
BB AD 26,624 e THIRRES Tith (ithid) nt 3,139
IREEASHERTIREH A 21,671 \ ZOMOES Tty (Hhid) i 0




